
QTY 4: 5 mm ID 13 mm OD BEARING
(am-4724)

QTY 5: 10-32 NYLOCK JAM NUT
(am-1063)

QTY 3: 0.375 OD X 
0.25 NYLON SPACER
(am-1700)

QTY 2: 2x4 PLATE
(am-5006_2X4)

QTY 5: #10 WASHER
(am-1026)

QTY 4: 10-32 x 1.50" SHCS
(am-1014) 

QTY 1: 10-32 x 0.75" SHCS
(am-1047)

QTY 2: 10-32 x 1.50" SHCS
(am-1014)

QTY 3: 10-32 x 2.00" SHCS
(am-1049) 

QTY 2: 150° GUSSET
(am-5010_150)

QTY 4: 5 mm ID 13 mm OD BEARING
(am-4724)

QTY 1: 0.50" WIDE 30" LONG 
CONSTANT FORCE SPRING 
(am-4666) 

QTY 2: 0.375 OD X 0.25 
NYLON SPACER (am-1700)

QTY 6: #10 WASHER
(am-1026)

QTY 6: 10-32 NYLOCK JAM NUT
(am-1063)

QTY 1: 10-32 x 0.75" SHCS
(am-1047)

QTY 1: 0.375 OD X 1.00 
NYLON SPACER (am-1696)

 2.44 

 2.91 

 2.19  1.99 

ALUMINUM TUBES & MOTOR NOT INCLUDED

REVISION HISTORY
REV. DESCRIPTION DATE DRAWN BY

1 ORIGINAL PRINT 10/9/2023 P. YEUNG

A A

B B

4

4

3

3

2

2

1

1

COMMENTS:

1/16
1  
5
0.1 
0.01
0.005
0.0005

DIMENSIONS ARE IN INCHES

*** SEE CAD FOR ADDITIONAL TOOLPATH INFO***

TOLERANCES:
FRACTIONAL
ANGULAR: MACH
ANGULAR: BEND 
ONE PLACE DECIMAL 
TWO PLACE DECIMAL
THREE PLACE DECIMAL
FOUR PLACE DECIMAL
MATERIAL

FINISH

VARIOUS
CHECKED
ENG APPR.

MFG APPR.
Q.A.

DUAL DIMENSIONS ARE IN MILLIMETERS.

BREAK ALL SHARP EDGES.

DATENAME

TITLE:

SIZE

B
DWG.  NO. REV

SCALE: 1:2

UNLESS OTHERWISE SPECIFIED:

NM 10/12/23

SHEET 1 OF 1
am-5165

DO NOT SCALE DRAWING

1

ROBITS SPRING
EXTEND ASSEMBLY


	Sheet1
	Drawing View1
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6


